HbhbeT 5

z3FEA1 28R =9 1onauws| 56 O]
7‘-:_’- I (i 1~52%20& 1008
DIETIHI%
ISNAU [0 3>)
@5% < 1,)2_ 5 1 2 3 4 5
18 13 14 19 14
5125313+ 14 -5 -9 (® 1 1 1
-9 |® 1 4 |® -9 3
| £ 4 5 a 1 3 -8
ShtT 10 —9O |© 1 6 |® 1 -9
=7 | (&
DIETHI %
- O 5 DRATI BTEB3-oHHET
@lox { A 5
- & [5Z<DHDAT] KhTERL\-=bHET
1012531315 (4

£ 9




HbhbeT 5

23IFA1 280K =9 1onaLws| 32 2 [0
7‘-:1- I (i 1~52%20& 1008
DIETIHI%
ISNAU [0 3>)
@5% < 1,)2_ 5 1 2 3 4 5
11 14 19 12 11
5125313+ 14 ® -9 |6 1 1 2 3
I 2: 4 -1 3 4 |® 1 |® 1
8 —9 |® 1 Aa —9
SbET 10 0) 2 |© 1 3 |(© 1 2
=7 | (&
DIETHI %
- ® [5Z<DHAT] WTED->HbHET
@lox { A 5
- © [5Z<DHAT] KTERL\—=HHET
10(z5: 3134 5 (2

£ 9




HbhbeT 5

z3FEA1 28R =9 1onauws| 56 O]
7‘-:_’- I (i 1~52%20& 1008
Ol & vk =
ISNAU [0 3>)
@5% < 1,)2_ 5 1 2 3 4 5
19 14 19 16 18
5124512 F9512 1 |6 1 @ 1 3 —7
o Aa 4 |@ 1 -9
| ¢ 4 -8 |@ 1 |® 1 Aa 2
HHET 10 1 @ -9 -5 |6 1 1
=7 | (&
DIE+IH%
- ® [5Z<DHAT] WTED->HbHET
@lox { A 5
- ® 5Z2<HXTI] BKTERLV->HBHET
1012221345 (4

£ 9




HbhbeT 5

Z3EA 1 28R =9 1ohaLws| 56 O]
7‘-:_’- I (i 1~52%20& 1008
DIZT I %
ISNAU [0 3>)
@5% < 1,)2_ 5 1 2 3 5
18 13 14 19 14
5zt 3134513 5|0 -9 1 1 1
-9 |6 1 4 -9 3
I Z 4 5 4 1 3 -8
bbtT 10 —9O ([ a B () 1 -9
=% 1 &
DIFTIH %
- ® [5Z<DHAT] WTED->HbHET
@10t { A5
- © [5Z<DHAT] KTERL\—=HHET
10127 3 (34 5 (2

£ 9




ShbteT 5

z3FEA1 28R =9 1onhAaLwS| 56 O]
f:_’- I ‘i 1~52%20& +H100.%
DIEFTH%
ISNAU [0 3>)
@5% < bi 5 1 2 4 5
15 13 4 19 14
5128313514 4 -9 (® 1 1 1
@0 1 |® 1 4 |©® -9 3
I 2: 4 4 4 1 3 -8
SbtT 10 ® 1 (@ 1 6 |® 1 -9
=% 1
DIEFTH%
- O [5Z<HAT] WTEZ3-oHHET
R0t { A 5
- ¢ [5Z<DHDAT] BTERRV\-=HHET
101z 31349 (2

£ q




ShbteT 5

z3EA1 28R 9 1ohaLws| 55 6 [O
f:_’- I ‘i 1~52%20% #H100%
DIFT I %
ISNAU [0 3>)
@5% < bi 5 1 2 3 5
14 19 17 11 18
52539513 ® 1 1 —6 3 —9
® -9 4 -9 1 |© 1
| L 4 3 |® 1 2 4 6
SbtT 10 @0 1 |® -9 1 1 |© o
=71 (3
DIEFFIHr%
- ® [5Z<HATI HhTED->HHET
210 (A 5
- [5Z<DHAT] BNTERUL\—=>HHET
101z 5(E4 9 (3

£ q




ShbteT 5

Z3FEA1 28R =9 1ohauws| 5 O]
f:_’- I ‘i 1~52%20& +H100.%
DIF+IHr%
ISNAU [0 3>)
@5% < bi 5 1 2 3 5
13 17 14 O 18
512313513 ®© -9 —9 1 1 -9
® a B -8 4 3 1
| ¢ 4 3 o 1 1 Aa
bhteT 10 -2 -2 8 1 1
=% 1 (3
DIEF+IH%
- ® [5Z<DHDAT] WTE3->HbHET
@lox (A 5
- [5Z<DHXT] KTERR\—->HbhET
1012221345 (4

£ q




HhbeT 5

z3FEA1 28R =9 1ohaLwS| 56

=T 1 I~ 5 %20% 00X
DIFTH %
ISNAU [0 3>)
@5 (A b 1 2
13 19 14 14 o
5124531 12 ® -9 1 1 1 1
5 3 -9 -5 4
I Z 4 @ 1 -9 -1 O B
HHhET 10 2 a B 2 a B 4
=% 1
DIFFH %
- ® [5Z<PHXT] KWTE3->HHET
R0t { A 5
- [5Z<DHAT] BTERLW—->bHET
101273 (34 5 14

£ 9




